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MBS RBHEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H R EEH

+ABFENHEHIEEE = FiA -6.26|M/kWh
(1) BA¥ & R B Bl = (FY PARHMEHE —80,800) x EL#EBiffi—1,000 = -6.26]F/kWh
202551 B ~20255E3 A FHD B S FHmE
A: 1KkIBH =Y DR R 76,168 M o: 0.1874 HAEE 0.173 H
B: 1tdh=YDTEHLNGIEE 95,616 M B: 0.0899
C: tHI-YDTEHRRME 21,690 M Y 1.0036
EHREMER = Axa +Bx S8 + VX 7y = 44,600 M (100 KEEERAN)
(2) BB —/N\—Y)LY—E R B fi= (B & F R #HT4& —79,300M) x EEEB{H 1,000 = 0.00]FH/kWh
202551 B ~20255E3 A FHD B S sHmE
A: 1KkIBH =Y DR R 76,168 M a 1.0000 HAEE 0.001 [
B: 1tdh1=YDTEHLNGIEE 95,616 M 0.0000
C: 1tHI-YDTEHRRXRME 21,690 M e 0.0000
EEETEMREMER = AXx o +BXx S8 + VX y= 76200 H (100 REEERAN)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XxDx(1+HE&EHRE) = 0.00]F/kWh
A>CODIGE . ENRABEM=(A—C)xDx(1+HEMRZEK) 0.00]F/kWh
A: BTADIVTISARFEHE-(1-18K3H) x TR 10.15 MADIV7ZISAREYIE 8.5
B: EJTIAEREEEM (Fiik) 8.00 BxE 7.9%
C: BMHEEAEE M (Fik) 14.00 R 110%
D: #EEE 70%
4) REHEHAIREE 0.00|F9/kWh
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MBS RBHEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H R EEH

+ABFENHEHIEEE = FiA -7.43|M/kWh
(1) BA¥ & R R Bl = (FY PARMIHE —83,500M) x EL#EBiffi—1,000 = -7.43|F/kWh
202551 B ~20255E3 A FHD B S FHmE
A: 1KkIBH =Y DR R 76,168 M o: 0.0259 HAEE 0.197 [
B: 1tdh=YDTEHLNGIEE 95,616 M B: 0.2563
C: tHI-YDTEHRRME 21,690 M Y 0.8915
EHREMER = Axa +Bx S8 + VX 7y = 45800 H (100 KEEERAN)
(2) BB —/N\—Y)LY—E R B fi= (B & F R #HT4& —79,300M) x EEEB{H 1,000 = 0.00]FH/kWh
202551 B ~20255E3 A FHD B S sHmE
A: 1KkIBH =Y DR R 76,168 M a 1.0000 HAEE 0.001 [
B: 1tdh1=YDTEHLNGIEE 95,616 M 0.0000
C: 1tHI-YDTEHRRXRME 21,690 M e 0.0000
EEETEMREMER = AXx o +BXx S8 + VX y= 76200 H (100 REEERAN)
Q) HNENFAEREM=A<BDEE. HEHFAREM=(A—B)XxDx(1+H&FZHK) 0.00]F/kWh
A>CODIGE . ENRABEM=(A—C)xDx(1+HEMRZEK) 0.00]F/kWh
A: BTADIVTISARFEHE-(1-18K3H) x TR 11.78 MADIV7ZISAREYIE 9.80
B: EJTIAEREEEM (Fiik) 7.00 BEkE 8.5%
C: BMHEEAEE M (Fik) 14.00 AR 110%
D: #EEE 70%
4) REHEHAIREE 0.00|F9/kWh
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MBS RBHEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H R EEH

+ABFENHEHIEEE = FiA -6.39|/kWh
(1) BA¥ & R Bl = (FYPAEMEHE —86,100M) x ZL#EBi{fi—1,000 = -6.39]F/kWh
202551 B ~20255E3 A FHD B S FHmE
A: 1KkIBH =Y DR R 76,168 M o: 0.0048 HAEE 0.183 M
B: 1tdh=YDTEHLNGIEE 95,616 M B: 0.3827
C: tHI-YDTEHRRME 21,690 M Y 0.6584
EHREMER = Axa +Bx S8 + VX 7y = 51,200 H (100 KEEERAN)
Q) BEI-/N—Y LY —ERFEE = (B S F RIS —0M) x BXE {1,000 = 0.00]F/kWh
202551 B ~20255E3 A FHD B S sHmE
A: 1KkIBH =Y DR R 76,168 M a 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIEE 95,616 M 0.0000
C: 1tHI-YDTEHRRXRME 21,690 M e 0.0000
BHELHBREMB=AXxa +BXxB8 +VXxr=0H (100 RBEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XxDx(1+HE&EHRE) = 0.00]F/kWh
A>CODIHE . IEHFAREME=(A—C)XDXx(1+HEHRE) = 0.00]F/kWh
A: BTADIVTISARFEHE-(1-18K3H) x TR 13.22 MADIV7ZISAREYIE 11.19
B: EJTIAEREEEM (Fiik) 7.00 BxE 6.9%
C: BMHEEAEE M (Fik) 14.00 SRR 110%
D: #EEE 70%
4) REHEHAIREE 0.00|F9/kWh
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MBS RBHEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H R EEH

+ABFENHEHIEEE = FiA 2.63|M/kWh
(1) BA¥ & R Bl = (CEPAEMEHE —45,900) x ZL#EBi{fi—1,000 = 2.63|M/kWh
202551 B ~20255E3 A FHD B S FHmE
A: 1KkIBH =Y DR R 76,168 M o: 0.0275 HAEE 0.233 M
B: 1tdh=YDTEHLNGIEE 95,616 M B: 0.4792
C: tHI-YDTEHRRME 21,690 M Y 0.4275
EHREMER = Axa +Bx S8 +VXxy = 57200 H (100 KEEERAN)
Q) BEI-/N—Y LY —ERFEE = (B S F RIS —0M) x BXE {1,000 = 0.00]F/kWh
202551 B ~20255E3 A FHD B S sHmE
A: 1KkIBH =Y DR R 76,168 M a 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIEE 95,616 M 0.0000
C: 1tHI-YDTEHRRXRME 21,690 M e 0.0000
BHELHBREMB=AXxa +BXxB8 +VXxr=0H (100 RBEERA)
Q) HNENFAEREM=A<BDEE. HEHFAREM=(A—B)XxDx(1+H&FZHK) 0.00]F/kWh
A>CODIGE . ENRABEM=(A—C)xDx(1+HEMRZEK) 0.00]F/kWh
A: BTADIVTISARFEHE-(1-18K3H) x TR 10.05 MADIV7ZISAREYIE 8.49
B: EJTIAEREEEM (Fiik) 5.00 BEkE 7.1%
C: BMHEEAEE M (Fik) 13.00 AR 110%
D: #EEE 70%
4) REHEHAIREE 0.00|F9/kWh
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MBS RBHEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H R EEH

+ABFENHEHIEEE = FiA -7.00|M/kWh
(1) BRK B S 2R B (il = (S RHEliFE — 79,800) x EAE B {fi— 1,000 = —7.00]F/kWh
20254E1 A ~2025E3 A FHDE S eHEE
A 1KkIBHT=Y DT E RS 76,168 M o 0.0415 HAE B 0.165 M
B: 1tdHh1=YDFHLNGEE 95,616 M 0.0745
C: 1tH=YDEHR R 21,690 M Y 1.2499
LR = Axa +BXx B8 +Vxy = 37400 M (100K EMEERA)
Q) BEI-N—YI)LY—ERFEE M= (B SR EHE®E —0M) x #EB{H 1,000 = 0.00]FH/kWh
20254E1 A ~2025E3 A FHDE S eHEE
A 1KY OFEHE R 76,168 M o 0.0000 FAE B 0.000 M
B: 1tdHh1=YDFHLNGEE 95,616 M 0.0000
C: 1tH-YDTEHARME 21,690 M Y 0.0000
HEEYMREMEK=AXxa +BXS8 +VXxyr=0H (100 KHmEIER A)
Q) HBEHFREM=A<BNIGE. HENABEME=(A—B)xDx(1+HEHRE) 0.00]F/kWh
A>COIGE . HENHAREM=(A—C)xDx(1+;H&F =) 0.00]F/kWh
A BTADIVTFISARAEHE-(1-18KF) x F{ER 9.38 BADI) 7 ISAAEHE 7.86
B: ETHABEEREMFRiR) 5.00 |RE 7.8%
C: BhNGFEEEE M (Fiik) 13.00 TREEER 110%
D: #EEE 70%
1) FElHEe5iB% 0.00]F4/kWh
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BT LRNT—

MBS RBHEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H R EEH

+AORENHERIELE= B D 15kWhET A 56.68 A
LS A 3.78 F/kWh
(1) BR¥ &R E M = (CEY BRI —27,100M) x ZL#EE{fi 1,000 = BHYD15kWhET 56.68| M
202551 B ~20255E3 A FHD B S sHmE Lot 3.78| M /kWh
A: 1KkIBHT=Y DR R 76,168 M a 0.0140
B: 1tdh1=YDTEHLNGIEE 95,616 M 0.3483 ~15kWhEL#E B iy 2475 A
C: tHI-YDTEHRRME 21,690 M Y- 0.7227 16kWh ~ EL £ B {fff 0.165 [
EHREMER = Axa +Bx S8 + VX ¥y = 50,000 H (100 KEFEEERAN)
Q) BEI-N—Y LY —ERFEE M= (B S FHREHEE —0M) x B4E M +1,000 = 0.00]F/kWh
202551 B ~20255E3 A FHD B S sHmE
A: 1KkIBH =Y DR R 76,168 M 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIHmE 95,616 M 0.0000
C: 1tHI-YDTEHRRME 21,690 M e 0.0000
HELHBRE@EKR=AXxa +BXxB8 +Vxr=0H (100K BEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XDXx(1+HE&EHRE) = 0.00]F/kWh
A>CODIGE . IEHFAREMm=(A—C)XDx(1+HEHRE) = 0.00]F/kWh
A: BTADIVTISARFEHE-(1-1843H) x HER 9.38 MADIN7ZISAREYIE 7.86
B: EJTIAEREEEM (Fiik) 5.00 BEkE 7.8%
C: BMFHEEAEEM (Fik) 13.00 SRR 110%
D: #EEE 70%
4) REHEAIREE 0.00|F9/kWh
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MBS RBHEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H R EEH

+HBRENHEREE= YD 15kWhET B -133.56 M
EEList Bl -8.89 FH/kWh
(1) #R B B 2 Bl = (29 BHEi4% — 80,300 ) x R #EB{fi 1,000 = RHD15kWhET -132.81|M
202541 A ~20255%3 A T D & Hifftat il EEELS -8.84|F/kWh
A: 1KY O FH R im g 76,168 [ o: 0.0406
B: 1t&H =Y DT HLNGIEE 95,616 M B: 0.0992 ~ 15kWhEE % B {ffy 3.185 M
C: 1tH1=Y DA Fifhits 21,690 A Y 1.1994 16kWh~ Z£#£ B {fy 0.212 M

TEg@iE = AXxa +BXx 8 +Vxy = 38600 M (100 KEFEEERAN)
| EERNBR D 15kWhET

(2) BB /N—Y LY —E R EH = (B ST MARHERE —79,300M) x Z#EE(H+1,000 = ~0.05|F/kWh
202541 8 ~202553 A T D & Hifftatlig 0.00JF4/kWh
A: 1KY O FH R im g 76,168 M o: 1.0000 T FEA LR LS
B: 1t&H =YD FHLNGIEE 95,616 M B: 0.0000 ~ 15kWhEE % B fffy 0.017 A
C: 1tH1=Y DA Fifhits 21,690 A Y 0.0000 16kWh~ ZE#£ B {fy 0.001 [

EETEYMREMEER = AXxao +BXx S8 + VX y= 76200 H (100 RFEEERAN)

Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XDXx(1+HE&EHRE) = 0.00]FH/kWh
A>CODIGE . IEHFAREMm=(A—C)XDx(1+HEHRE) = 0.00]FH/kWh
A: BTADIVTISARFEHE-(1-1843H) x HER 9.34 MADIN7ZISAREYIE 7.84
B: EJTIAEREEEM (Fiik) 5.00 BEkE 7.7%
C: BMFHEEAEEM (Fik) 13.00 SRR 110%
D: #EEE 70%
4) REHEAIREE 0.00|F9/kWh
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MBS RBHEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H R EEH

+AORENHERIELE= B D 15kWhET A -68.44 |
LS A -6.22 F/kWh
(1) BA¥ & R R Bl = (Y BAKEHMEHE —80,000M) x EL#EBiffi—1,000 = BYD1TKWhET -68.44|M
202551 B ~20255E3 A FHD B S sHmE Lot -6.22|/kWh
A: 1KkIBHT=Y DR R 76,168 M a 0.0875
B: 1tdh1=YDTEHLNGIEE 95,616 M 0.0770 ~11kWhE 2B 1.694 [
C: tHI-YDTEHRRME 21,690 M Y- 1.1770 12kWh ~ EL £ B {fff 0.154 [
EHREMER = Axa +Bx S8 +VXxy = 39600 H (100 KEFEEERAN)
(2) BB —/N\—Y )L Y —E XL fi= (B & F R #HT4& —79,300M) x R EEB{H 1,000 = 0.00]FH/kWh
202551 B ~20255E3 A FHD B S sHmE
A: 1KkIBH =Y DR R 76,168 M 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIHmE 95,616 M 0.0000
C: 1tHI-YDTEHRRME 21,690 M e 0.0000
HELHBRE@EKR=AXxa +BXxB8 +Vxr=0H (100K BEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XDXx(1+HE&EHRE) = 0.00]F/kWh
A>CODIGE . IEHFAREMm=(A—C)XDx(1+HEHRE) = 0.00]F/kWh
A: BTADIVTISARFEHE-(1-1843H) x HER 9.05 MADIN7ZISAREYIE 7.56
B: EJTIAEREEEM (Fiik) 5.00 BEkE 8.1%
C: BMFHEEAEEM (Fik) 13.00 SRR 110%
D: #EEE 70%
4) REHEAIREE 0.00|F9/kWh

Uk




AMEATUTEE]
N)a1—TSUDEESE

20255 6H%
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BADBIHEICSFTNIRHMEFHBEME. TELOBYSHSELET.

MBS RBHEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H R EEH

+ABFENHEHIEEE = FiA 1.91|M/kWh
(1) BR¥ & R B = (CEY PRI —27,400) x ZL#EBi{fi—1,000 = 1.92| 1 /kWh
202551 B ~20255E3 A FHD B S FHmE
A: 1KkIBH =Y DR R 76,168 M o: 0.0053 HAEE 0.136 [
B: 1tdh=YDTEHLNGIEE 95,616 M B: 0.1861
C: tHI-YDTEHRRME 21,690 M Y 1.0757
EHREMER = Axa +Bx S8 + VX 7y = 41500 H (100 KEEERAN)
(2) BB —/N\—Y)LY—E R B fi= (B & F R #HT4& —79,300M) x EEEB{H 1,000 = -0.01]A/kWh
202551 B ~20255E3 A FHD B S sHmE
A: 1KkIBH =Y DR R 76,168 M a 1.0000 HAEE 0.003 [
B: 1tdh1=YDTEHLNGIEE 95,616 M 0.0000
C: 1tHI-YDTEHRRXRME 21,690 M e 0.0000
EEETEMREMER = AXx o +BXx S8 + VX y= 76200 H (100 REEERAN)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XxDx(1+HE&EHRE) = 0.00]F/kWh
A>CODIHE . IEHFAREME=(A—C)XDXx(1+HEHRE) = 0.00]F/kWh
A: BTADIVTISARFEHE-(1-18K3H) x TR 8.83 MADIV7ZISAREYIE 7.34
B: EJTIAEREEEM (Fiik) 5.00 BxE 8.6%
C: BMHEEAEE M (Fik) 13.00 SRR 110%
D: #EEE 70%
4) REHEHAIREE 0.00|F9/kWh

Uk




